Physics 237, Spring 2008 Homework #3Due in class, Thursday Feb. 14, 2008

Homework is from Eisberg and Resnick (E&R) unless otherwise indicated. Please note that "questions" can be answered briefly; "problems" may be more involved.

- 1. E&R, chapter 5, question 27.
- 2. E&R, chapter 5, question 32.
- 3. E&R, chapter 5, problem 11.
- 4. E&R, chapter 5, problem 12.
- 5. E&R, chapter 5, problem 13.
- 6. E&R, chapter 5, problem 14, part a only.
- 7. E&R, chapter 5, problem 15.
- 8. E&R, chapter 5, problem 22, part a and b only.

27 Explain in two or three words how the quantization of energy is related to the well behaved character of acceptable eigenfunction

In order to be an acceptable solution as eigenfunction the and its derivative dyles are required to have the following properties;

(i) finite (ii) single valued (iii) continuous. Schrödinger equation like any other differential equation will have a wide variety of solutions but of all the possible solutions only those that about the above criteria are acceptable. This distinct choice of wavefunctions from a set of many leads to energy quantization.

is not quartized Dees this mean falential has not effect on the behavior of the pasticle? What effect would you expect it is have?

No, this certainly does not mean that the particle is unaffected by the potential. A particle's energy is quantized because;

(i) Region I - V(x) (E - Y is exponentially decaying

The continuity of the eigenfunctions in these two vegious is fossible only for certain salutions of the Schrödinger equation leading to quantization

of evergy.

Now, when a fasticle is unbound, E>V(z) abroys, as a result the wavefunction is oscillatory throughout. The question of quantization does not arish because in this case we do not have the stouble of equating two disiniter eigenfunctions at the boundaries. Thus, all solutions are allowed and one does not have quantization.

This obviously does not mean that the potential does not affect the particle because the particle may be slowed down as it approaches the potential or may be it is speed extended as it leaves it.

SOLUTIONS

PHY 237

Calculate the expectation value of β , and the expectation value of β^2 , for the farticle associated with the wavefunction on Parts 10 (i.e.

$$S(x,t) = \sqrt{\frac{2}{a}} \quad \sin \frac{2\pi x}{a} e^{-iEt/\hbar} - \frac{9}{2} \langle x \langle \frac{9}{2} \rangle$$

$$= 0 \quad \text{otherwise}$$

$$\vec{b} = \int_{-\infty}^{\infty} \psi^* \left(-i\frac{1}{A}\frac{\partial}{\partial x}\right) \psi dx$$

$$= \int_{-A/2}^{A/2} \sqrt{\frac{2}{a}} \frac{\sin \frac{2\pi x}{a}}{a} e^{+i\frac{E}t/4} \left(-i\frac{1}{a}\right) \times \frac{1}{a} \left(\frac{2\pi}{a}\right) \cos \frac{2\pi x}{a} e^{-i\frac{E}t/4} dx$$

$$= \left(-i\frac{1}{a}\right) \int_{-A/2}^{A/2} \frac{2\pi}{a} \cos \frac{2\pi x}{a} \sin \frac{2\pi x}{a} dx$$

$$= -i\frac{1}{a} \int_{-A/2}^{A/2} \cos \frac{2\pi x}{a} \sin \frac{2\pi x}{a} dx$$

$$= -i\frac{1}{a} \int_{-A/2}^{A/2} \cos \frac{2\pi x}{a} \sin \frac{2\pi x}{a} dx$$

In 272 is an even function, Sin 272 is an odd funch.
Therefore, the integrand is an odd function and thus the integral vanishes

$$\vec{p} = 0$$

$$= \frac{2}{\alpha} \left[\frac{a^3}{4\pi} - \frac{1}{a} \left\{ + x^2 \frac{9n}{\pi} \frac{4\pi x}{\pi} \left(\frac{a}{4\pi} \right) \right\}^{4/2} + \frac{2a}{4\pi} \left(-x \frac{604\pi x}{\pi} \left(\frac{a}{4\pi} \right) \right) + \frac{4\pi x}{\pi} \left(\frac{a}{4\pi} \right)^2 \right\}$$

$$= \frac{2}{A} \left[\frac{a^{3}}{24} - \frac{1}{2} \left\{ x^{2} \sin 4\pi x \left(\frac{a}{4\pi} \right) \right|^{\frac{a}{2}} + \frac{2a}{4\pi} \right)^{2} x \cos 4\pi x \left| \frac{a}{4\pi} \right|^{\frac{a}{2}} - \frac{a}{2} \left[-\frac{a}{2} \right]^{2} - \frac{a}{2} \left[\frac{a}{4\pi} \right]^{\frac{a}{2}} \right] - \frac{a}{4\pi} \left[\frac{a}{4\pi} \right]^{\frac{a}{2}} \left[\frac{a}{$$

$$= \frac{2}{a} \left[\frac{a^{3}}{24} - \frac{1}{2} \left\{ R \left(\frac{a^{2}}{4\pi} \right)^{2} \left(\frac{a}{2} - \left(\frac{4}{2} \right) \right) \right\} \right]$$

$$= \frac{2}{a} \left[\frac{a^{3}}{24} - \frac{1}{2} \left\{ 2 \left(\frac{a^{2}}{16\pi^{2}} \right)^{2} \times a \right\} \right]$$

$$= \frac{2}{A} \left[\frac{a^3}{34} - \frac{2a^3}{32\pi^2} \right] = \frac{1}{A} \left(\frac{a^3}{12} - \frac{a^3}{8\pi^2} \right)$$

$$= \left(\frac{a^3}{12} - \frac{a^3}{8\pi^2} \right)$$

$$= \frac{1}{A} \left(\frac{a^3}{12} - \frac{a^3}{8\pi^2} \right)$$

(11) Calculate the expectation value of
$$x$$
, and the expectation value of x^2 for $y(x,t) = \sqrt{\frac{2}{a}}$ Sen $\frac{2\pi x}{a} e^{-iEt/h}$ $\frac{-a}{2} \langle x \langle \frac{a}{2} \rangle = 0$ $\frac{2}{2} \langle x \langle \frac{a}{2} \rangle = 0$

$$\overline{x} = \int_{-\infty}^{\infty} \psi^*(x,t) \times \psi(x,t) dx$$

$$= \int_{-\infty}^{\infty} \frac{2}{a} \sin^2 \frac{2}{a} \times dx$$

Sur 211x is an even function of x Sur 211x is an odd function therefore the integral is a zero.

$$\frac{1}{x^{2}} = \int \frac{\alpha/2}{a} \frac{3}{a} \frac{\sin^{2} 2\pi x}{a} \times \frac{x^{2} dx}{a}$$

$$= \frac{2}{a} \int \frac{A/2}{x^{2}} \frac{\sin^{2} 2\pi x}{a} dx$$

$$= \frac{2}{a} \int_{-4/2}^{4/2} \frac{x^2 \left[1 - \ln \frac{4\pi x}{a}\right] dx$$

$$= \frac{2}{a} \left[\frac{x^3}{6} \right|_{-1}^{4/2} \int_{-a/2}^{a/2} x^2 + 6 \frac{4\pi x}{a} dx$$

$$= \frac{3}{4} \left[\frac{1}{6} \frac{a^3}{8} \times 2 - \frac{1}{2} \left\{ +x^2 \frac{1}{8} \frac{1}{4\pi} \left(\frac{a}{4\pi} \right) \right| + \frac{3a}{4\pi} \int_{-\infty}^{\infty} \frac{8a + 2a}{a} dx \right\}$$

$$\frac{1}{4} = \int_{-10}^{10} y^{+} (-1h)^{-\frac{3^{2}}{32^{2}}} y \, dx$$

$$= \int_{-10}^{10} \int_{-10}^{10} \frac{1}{32^{2}} y \, dx$$

$$= \int_{-10}^{10} \int_{-10}^{10} \frac{1}{32^{2}} \int_{-10}^{10}$$

- (a) the quantities extended in the preceding two problems to calculate the product of renestainties in product and remembers of a particle in the first excited state of the system being considered
 - (b) Compare the uncertainty product when the particle is in the lowest energy state of the system. Explain why the uncertainty products differ.

$$(\tilde{A}) \quad (\tilde{\Delta \chi})^2 = \overline{\chi^2} - (\overline{\chi})^2$$
$$(\tilde{A}p)^2 = \overline{p^2} - (\overline{p})^2$$

$$\frac{1}{2} \left(\overline{A} \chi \right)^{2} = \overline{\chi}^{2}$$

$$\frac{1}{2} \left(\overline{A} p \right)^{2} = \overline{p}^{2} \stackrel{?}{=} \overline{A}^{2} \cdot \overline{A} p = \sqrt{\overline{\chi}^{2} \cdot \overline{p}^{2}}$$

$$\frac{1}{2} \overline{A} \times \overline{A} p = \sqrt{\overline{\chi}^{2} \cdot \overline{p}^{2}} = \sqrt{\overline{A}^{2} \left(\frac{1}{12} - \frac{1}{8\pi^{2}} \right) \times \frac{4\pi^{2} h^{2}}{A^{2}}}$$

or
$$Ax \cdot \Delta P = 1.67 t$$
.

(b)

$$E = \frac{\beta^2}{2m}$$
; Since this wavefunction corresponds
to the encited state (1st) of the system, thus it is
bigher than the ground state energetically, encourse
in E backs to an encrease in β^2 which is equal to $(ap)^2$

this uneviaring the uncertainty b. It is to be noted that the vowefunction for the 1st excited state has more viriales (oscillations) than that for the ground state. Greater the no: of oscillations more us the senertainty of finding the particle is a certain position. Thus leading to an encrease in the sencertainty on this case as compared to the sencertainty for this case as compared to the sencertainty product is higher in this case as compared to the sencertainty product in the ground state which was 0.57th.

(a) Calculate the expectation value of the K.E.S. the P.E. for a particle in the lorocost energy state of a Simple Harmonic Oscillatur, using the wavefunction

$$y = \frac{(m)^{1/8}}{(\pi +)^{1/4}} e^{-\frac{(\sqrt{cm})^{2}}{2\pi}} e^{-\frac{k^{2}}{2}\sqrt{\frac{c}{m}}} t$$

$$E = \frac{\beta^2}{2m} + \frac{1}{2} Cx^2$$

$$K \cdot E = \frac{b^2}{2m}$$

$$\therefore K \cdot E = \frac{b^2}{2m}$$

$$\Rightarrow R \cdot E = \frac{1}{2} C \times 2$$

$$f = Ae^{-\alpha x^2} e^{-i\beta t}$$
 $A = (Cm)^{1/2}; \alpha = \sqrt{Cm}; \beta = +\frac{1}{2}\sqrt{\frac{C}{m}}$
 $(\pi t)^{1/2}$

$$\frac{\partial^{2}}{\partial x^{2}} = \int_{-\infty}^{\infty} Y^{*} \left(-i\frac{1}{2}\frac{\partial}{\partial x}\right)^{2} Y dx$$

$$= \int_{-\infty}^{\infty} A e^{-\alpha x^{2}} e^{+i\beta t} \left(-i\frac{1}{2}\right)^{2} A e^{-\alpha x^{2}} e^{-i\beta t} dx$$

$$= \int_{-\infty}^{\infty} A^{2} e^{-\alpha x^{2}} X \int_{-\infty}^{\infty} \frac{\partial}{\partial x} \left[\left(-i\frac{1}{2}\right)^{2} \left(-i\frac{1}{2}\right)^{2} e^{-i\beta t} dx$$

$$= \int_{-\infty}^{\infty} A^{2} e^{-\alpha x^{2}} \left[\left(-i\frac{1}{2}\right)^{2} \left(-i\frac{1}{2}\right)^{2} e^{-i\beta t} dx$$

$$= \int_{-\infty}^{\infty} A^{2} e^{-\alpha x^{2}} \left[\left(-i\frac{1}{2}\right)^{2} \left(-i\frac{1}{2}\right)^{2} e^{-i\beta t} dx$$

$$= \int_{-\infty}^{\infty} A^{2} e^{-\alpha x^{2}} \left[\left(-i\frac{1}{2}\right)^{2} \left(-i\frac{1}{2}\right)^{2} e^{-i\beta t} dx$$

$$= \int_{-\infty}^{\infty} A^{2} e^{-\alpha x^{2}} \left[\left(-i\frac{1}{2}\right)^{2} \left(-i\frac{1}{2}\right)^{2} e^{-i\beta t} dx$$

$$= \int_{-\infty}^{\infty} A^{2} e^{-\alpha x^{2}} \left[\left(-i\frac{1}{2}\right)^{2} \left(-i\frac{1}{2}\right)^{2} e^{-i\beta t} dx$$

$$= \int_{-\infty}^{\infty} A^{2} e^{-\alpha x^{2}} \left[\left(-i\frac{1}{2}\right)^{2} \left(-i\frac{1}{2}\right)^{2} e^{-i\beta t} dx$$

$$= \int_{-\infty}^{\infty} A^{2} e^{-\alpha x^{2}} \left[\left(-i\frac{1}{2}\right)^{2} \left(-i\frac{1}{2}\right)^{2} e^{-i\beta t} dx$$

$$= \int_{-\infty}^{\infty} A^{2} e^{-\alpha x^{2}} \left[\left(-i\frac{1}{2}\right)^{2} \left(-i\frac{1}{2}\right)^{2} e^{-i\beta t} dx$$

$$= \int_{-\infty}^{\infty} A^{2} e^{-\alpha x^{2}} \left[\left(-i\frac{1}{2}\right)^{2} e^{-i\beta t} dx$$

$$= \int_{-\infty}^{\infty} A^{2} e^{-\alpha x^{2}} \left[\left(-i\frac{1}{2}\right)^{2} e^{-i\beta t} dx$$

$$= \int_{-\infty}^{\infty} A^{2} e^{-\alpha x^{2}} \left[\left(-i\frac{1}{2}\right)^{2} e^{-i\beta t} dx$$

$$= \int_{-\infty}^{\infty} A^{2} e^{-\alpha x^{2}} dx$$

$$\tilde{p}^{2} = \int_{-\infty}^{\infty} A^{2} e^{-\alpha x^{2}} \left[2\alpha h^{2} e^{-\alpha x^{2}} - h^{2} (2\alpha)^{2} x^{2} e^{-\alpha x^{2}} \right] dx$$

$$= \int_{-\infty}^{\infty} A^{2} \left(2\alpha h^{2} \right) e^{-2\alpha x^{2}} dx - \int_{-\infty}^{\infty} A^{2} \left(2\alpha h^{2} \right)^{2} x^{2} e^{-2\alpha x^{2}} dx$$

$$= 2\alpha h^{2} \int_{-\infty}^{\infty} A^{2} e^{-2\alpha x^{2}} dx - \left(2\alpha h^{2} \right) \int_{-\infty}^{\infty} A^{2} x^{2} e^{-2\alpha x^{2}} dx \cdots (a)$$
Then T

$$\frac{\sqrt{|\omega|}}{\int_{-\infty}^{\infty}} \frac{1}{4^2 e^{-2\alpha x^2}} dx = \int_{-\infty}^{\infty} \frac{1}{4^2$$

Team $\frac{\pi}{\sqrt{12}}$ $\int_{-\infty}^{\infty} A^2 x^2 e^{-\lambda \alpha x^2} dx$

Now;
$$\frac{\partial}{\partial \alpha} \left(A^2 e^{2\alpha x^2} \right) = 2A \frac{\partial A}{\partial \alpha} e^{-2\alpha x^2} + A^2 (-2x^2) e^{-2\alpha x^2}$$

$$\frac{\partial A}{\partial \alpha} \frac{\partial A}{\partial \alpha} e^{-2\alpha x^2} - \frac{\partial}{\partial \alpha} \left(A^2 e^{-2\alpha x^2} \right) = 2A^2 x^2 e^{-2\alpha x^2}$$
or
$$A^2 x^2 e^{-2\alpha x^2} = \frac{1}{2} \left[2A \frac{\partial A}{\partial \alpha} e^{-2\alpha x^2} - \frac{\partial}{\partial \alpha} \left(A^2 e^{-2\alpha x^2} \right) \right]$$

$$\int_{-\infty}^{\infty} \frac{d^2x^2}{x^2} e^{-\frac{1}{2}\alpha x^2} dx = \frac{1}{2} \frac{2A}{\frac{\partial A}{\partial \alpha}} \int_{-\infty}^{\infty} e^{-\frac{1}{2}\alpha x^2} dx$$

$$+ \frac{1}{2} \frac{\partial}{\partial \alpha} \int_{-\infty}^{\infty} A^2 e^{-\frac{1}{2}\alpha x^2} dx$$

$$Now \int_{-\infty}^{\infty} A^2 e^{-\frac{1}{2}\alpha x^2} dx = \int_{-\infty}^{\infty} |V|^2 dx = 1$$

$$\frac{1}{2}\frac{\partial}{\partial \alpha}(1)=0$$

$$\frac{1}{a} \frac{\partial A}{\partial \alpha} \int_{-\infty}^{\infty} e^{-R\alpha x^{2}} dx = \frac{1}{A} \frac{\partial A}{\partial \alpha} \int_{-\infty}^{\infty} A^{2} e^{-R\alpha x^{2}} dx$$

$$= \frac{1}{A} \frac{\partial A}{\partial \alpha} \quad (\text{for the same sealor again})$$

$$\int_{0}^{\infty} d^{2}x^{2} e^{-2\alpha x^{2}} = \frac{\partial \ln A}{\partial \alpha}$$

$$A = \frac{(C_{M})^{\frac{1}{2}}}{(\pi + \frac{1}{4})^{\frac{1}{4}}} = \frac{(C_{M})^{\frac{1}{8}}}{\pi^{\frac{1}{4}}} \frac{2^{\frac{1}{4}}}{(2 + \frac{1}{4})^{\frac{1}{4}}}$$
$$= \frac{(2)^{\frac{1}{4}}}{\pi} \frac{(\sqrt{C_{M}})^{\frac{1}{4}}}{2\pi}$$

But
$$\frac{\sqrt{\ln x}}{2\pi} = x$$
 . $A = \left(\frac{2}{\pi}\right)^{1/4} \times 114$

$$\frac{\partial \ln A}{\partial \alpha} = \frac{1}{4\alpha}$$

$$\frac{\cos A^{2} + 2\cos A^{2}}{\cos A^{2}} = \frac{1}{4\alpha}$$
...

Substituting (1)
$$f(2)$$
 in (a)

one har;

$$\overline{p}^2 = 2\alpha \overline{h}^2 - (R\alpha \overline{h})^2 \times \frac{1}{4\alpha}$$

$$= 2\alpha \overline{h}^2 - \alpha \overline{h}^2 = \alpha \overline{h}^2$$

$$\frac{1}{2m} = \frac{\pi h^2}{2m} = \frac{h^2}{2m} \frac{\sqrt{cm}}{2h} = \frac{h}{4\sqrt{m}}$$

$$\overline{RE} = \frac{1}{3} e^{\frac{\pi}{2}}$$

$$\overline{x^2} = \int_{-\infty}^{\infty} y^+ x^2 y dx$$

$$= \int_{0}^{\infty} 4^{2} e^{-\alpha x^{2}} e^{i\beta t} z^{2} e^{-\alpha x^{2}} e^{i\beta t} dz$$

$$= \int_{-\infty}^{\infty} A^2 e^{-2\alpha x^2} x^2 dx$$

$$P = \frac{1}{2} \frac{C}{4\alpha} = \frac{1}{8} \frac{e}{\sqrt{Cm}} \times 2\pi = \frac{\pi}{4\sqrt{m}}$$

15) In calculating the expectation value of the product of the position times momentum, an ambiguity arrives because it is not apparent which of the two expressions.

$$\overline{\varphi} = \int_{-\infty}^{\infty} Y^{+} \times \left(-i t \frac{\partial}{\partial x}\right) Y dx$$

$$\overline{pz} = \int_{-\omega}^{\omega} y^{*} \left(-it \frac{\partial}{\partial x}\right) x y dx$$

should be used

(a) Show that niether is acceptable because both violate the obvious requirement that up should be real since it is measurable (b) Show that the expression;

$$\overline{xp} = \int_{-\infty}^{\infty} Y^* \left[x \left(-\lambda t \frac{\partial}{\partial x} \right) + \left(-\lambda t \frac{\partial}{\partial x} \right) x \right] Y dx$$

is acceptable because it does watisfy the regularement.

(a)
$$xp = \int_{-\infty}^{\infty} \psi^* x \left(-i\hbar \frac{d}{dx}\right) \psi dx = -i\hbar \int_{-\infty}^{\infty} \psi^* x \frac{dy}{dx} dx$$

Take complex conjugate of
$$\overline{xp}$$

$$\overline{xp}^* = ih \int_{-\infty}^{\infty} \psi_{x} \frac{\partial \psi^{x}}{\partial x} dx.$$

Evaluate this integral; $I = \int_{-\infty}^{\infty} \psi^* x \, dy \, dx$ using the condition that y(x) is a square integrable function. [i.e $\int_{-\infty}^{\infty} |y|^2 \, dx \, (\infty)$ is as $|x| \to \infty$, y(x)

must vanish faster than 1]

$$I = \int_{-\infty}^{\infty} \frac{\psi^* x}{\psi^* x} \frac{\partial \psi}{\partial x} dx = \left[\psi^* x \psi \right]_{-\infty}^{\infty} - \int_{-\infty}^{\infty} \left(\psi^* x \right) dx$$

The first term vanishes since Y(x) as $x \to \infty$ has at least $\frac{1}{x^{1+2\varepsilon}}$ form. So $Y^* = x + \frac{1}{x^{1+2\varepsilon}} = x + \frac{1}{x^{2\varepsilon}}$ as $x \to \infty$

$$T = -\int Y \frac{\partial}{\partial x} (Y^{*}x) dx = -\int Y (Y^{*} + x \frac{\partial Y^{*}}{\partial x}) dx$$

$$= -\left[\int_{-\infty}^{\infty} (Y^{*}x) dx + \int_{-\infty}^{\infty} (Y^{*} + x \frac{\partial Y^{*}}{\partial x}) dx \right]$$

$$= -\left[\int_{-\infty}^{\infty} (Y^{*}x) dx + \int_{-\infty}^{\infty} (Y^{*} + x \frac{\partial Y^{*}}{\partial x}) dx \right]$$

$$= -\left[\int_{-\infty}^{\infty} (Y^{*}x) dx + \int_{-\infty}^{\infty} (Y^{*} + x \frac{\partial Y^{*}}{\partial x}) dx \right]$$

$$= -\left[\int_{-\infty}^{\infty} (Y^{*}x) dx + \int_{-\infty}^{\infty} (Y^{*} + x \frac{\partial Y^{*}}{\partial x}) dx \right]$$

$$= -\left[\int_{-\infty}^{\infty} (Y^{*}x) dx + \int_{-\infty}^{\infty} (Y^{*} + x \frac{\partial Y^{*}}{\partial x}) dx \right]$$

$$= -\left[\int_{-\infty}^{\infty} (Y^{*}x) dx + \int_{-\infty}^{\infty} (Y^{*} + x \frac{\partial Y^{*}}{\partial x}) dx \right]$$

$$= -\left[\int_{-\infty}^{\infty} (Y^{*}x) dx + \int_{-\infty}^{\infty} (Y^{*}x) dx +$$

Let
$$xp = i\hbar + xp^*$$
 lie $xp = xp^*$

When the same arguments; let us find px

$$\overline{px} = \int_{-\infty}^{\infty} y^* \left(-i\hbar \frac{\partial}{\partial x}\right) x y dx = -i\hbar \int_{-\infty}^{\infty} y^* \frac{\partial}{\partial x} (xy) dx$$

$$= -i\hbar \int y x \frac{\partial y^*}{\partial x} dx$$

$$= i\hbar \int y x \frac{\partial y^*}{\partial x} dx$$

$$\overline{pz} = -\overline{xp}$$
So; $\overline{pz}^* = -\overline{xp}^* = -(\overline{xp} - i\pi) = i\pi - \overline{xp} = i\pi + \overline{px}$
Hence
$$\overline{pz} = \overline{px}^*$$

So both constructions, xp or px are not real, But the quantity that we are cearcheng is real.

(b) Let us try the symmetric combination

$$(\overline{xp})_{s} = \frac{1}{2}(\overline{xp} + \overline{pz})$$

$$= \frac{1}{2} \int_{-\infty}^{\infty} \psi^* \left(x \left(-i \hbar \frac{\partial}{\partial x} \right) + \left(-i \hbar \frac{\partial}{\partial x} x \right) \right) Y(x) dx$$

$$\overline{\lambda p}^* = \frac{1}{2} \left\{ \overline{\lambda p}^* + \overline{p} x^* \right\}$$

$$= \frac{1}{2} \left\{ \overline{\lambda p} - i + \frac{1}{4} + \overline{p} x \right\}$$

$$= \frac{1}{2} \left(\overline{xp} + \overline{px} \right)$$
| Hence $(\overline{xp})_s = (\overline{xp})_s^{*}$

The expectation value of the symmetric combination is a real quartify.

(a) The curvature of Y is proportional to |V-E| where |V-E| is very the function oscillates trapidly in x, and where |V-E| is small it oscillates has trapidly (lence nodes are closes in the former case and further about in latter case). In the first case, |V-E| is just large enough to turn Y over: no modes. The 10 th state will have 10-1=9 modes leading to an odd furtion since V is symmetrical about the origin. The wavefunction decays exponentially where V>E, the classically forbidden region.







